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1
8 10%
St.6 St.22 St.3:4 St.35 St.42 St.56 St.64 St.76 St.84 8
1
DO Hydrolab
QUANTA
@)
A. 0.0 20 21 3.0 3.1 35 3.6 4.0
4 P
4.1
1
1
2
E.
F.
1 1 2
2 1
1 2
0 20m 1.47 1.26 0.33 0.6 0.63 1.59 0.78 1.03 7.69
21 30m 11 1.28 0.29 0.72 0.48 1.39 0.26 0.66 6.18
31 35m 119 0.38 0.77 0.45 0.37 0.93 0.14 0.53 4.76
36 40m 156 0.59 05 0.18 0.47 1.39 0.12 0.52 5.33
5.32 351 1.89 1.95 1.95 5.3 1.3 2.74 23.96
2
0 2.0m 6 5 4 3 2 5 3 4 32
21 3.0m 6 5 4 3 3 5 3 4 33
31 35m 5 5 4 3 3 5 3 4 32
36 4.0m 3 5 3 3 3 4 3 4 28
20 20 15 12 11 19 12 16 125
0 2.0m 6 5 3 4 2 5 3 4 32
21 3.0m 6 6 4 2 3 5 3 5 34
31 35m 5 4 4 3 3 5 3 3 30
36 4.0m 3 5 4 3 3 4 3 4 29
20 20 15 12 11 19 12 16 125




®

0.699
3 3
(@)
3 (km’) (/m) () (@m) ()
A 0 20m 77 32 3,801 292 2594 19,950
21 30m 62 33 3,788 234 2,048 12,659
44,032 741 31 35m 48 32 2,565 122 1,420 6,757
76,230 36 40m 53 28 1735 92 875 4,666
1,042 240 125 3,002 741 1,838 44,032
3%
41 4
1 2 2 2
(km®) (_/m?) ) (@/m?) ()
0 20m 77 32 5,354 412 3,944 30,329
2 4 21 30m 62 33 5,743 355 4270 26,388
0.0 31 35m 48 32 3,292 157 2243 10,678
20 45 0 21 36 40m 53 28 2223 118 1657 8,834
3.0 2 - 24,0 125 4348 1,042 3182 76,230
3.1 3.5 15 14 3.6
4 -
4.0 1 12 a
3 } [ ]
0.0 2.0 2T
2.1 3.0 1 F
: il Ns R= §
0
0.0 2.0 0 20m 21 30m 31 35m 36 40m
39 40 2.1 3.0 32 2
A 3.1 3.5 16 500
a
15 3.6 4.0 12 1 200 k .
300 F
200 F
100 F
; 1.n
1 O 1 1 1
0 20m 21 30m 31 35m 36 4.0m
0.0 2.0 0.68
0.74 2.1 3.0 054  0.74 3
3.1 35 0.55 0.68 3.6 4.0 0.50 0.75 0.0 2.0
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O

|
(2 0 1 1 1
31 35m

1 0 20m 21 30m 36 40m
5 7 4
11 6 8
300 r 200 r
2,116 780
200 F
100 f
o —[_l_l_l_l—»—.‘
0 0 Il Il 1 1 1 1 ]
0 5 10 15 20 25 30 11 13 15 17 19 21 23 25 27 29
5 6 11
400 2,963 300 1,501
300 |
200 F
200 F
100 F 100 r
0 O P S T N |
0 5 10 15 20 25 30 11 13 15 17 19 21 23 25 27 29
7 8 11
4 10mm 0 3
2
4
1 5 11
11 15mm 16mm
( 6 5mm 10mm  15mm
4mm 10mm 15mm Arm  10mm
12mm 15mm
(€] 9 10
1m? 4,460 3,798
2,540 2,040 1,886 1,459 092 311
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18

n= 1886

14 16m
45 16
300 -
200 ]
1004 A _"_______-__
0 4+—= W_TT1-—

0 5 10 15 20 25 30
300
200 n= 1,459
100 -
0 ) ) 1 1 1 1
0 5 10 15 20 25 30
400 1
300 1 n= 2,540
200 -
100 - (
0 ) 1 1 1 1
0 5 10 15 20 25 30
60 1 )
40 - n= 311
20 1
0 ) 1 1 1 '_i
0 5 10 15 20 25 30
9

12

5 8 10
200 7
n= 992
B 1[]11%(T1[[{]}T}}1ﬂhh
0 ) 1 1 1 1
0 5 10 15 20 25 30
300
004 T n= 2,040
N J ﬂﬂm
O 1 1 1 1 1
5 10 15 20 25 30
800 -
600 1 n= 4460
400
0 ) 1 1 1 1
5 10 15 20 25 30
500 -
400 7
n=13,798
300
200
100- m——
0 ) 1 1 1
5 10 15 20 25 30
()
)



300 1

200 A

100 A

5,099

3,776

n= 3,005

\Zl—\

300 1

200 A

100 A

= 2447

500
400 A
300 A
200 A
100 A

e

n= 3,776

60 1

40 4

20 A

n= 642

13

5,853 3,005 3,112
503 642
15 17
100 1
n=593
X WMW"WHWM
O 1 1 1 1 1 1
0 5 10 15 20 25 30
400 -~
300 1 -] n=3112
200 1
100 A
O ] ] ] ] ]
0 5 10 15 20 25 30
800 1
600 - — s n=52853
400 A
200 1
O ] ] ] ]
0 5 10 15 20 25 30
600 - B
400 N n= 5,099
o m —|_’_h$>
O ] ] ] ]
0 5 10 15 20 25 30
mm



17 5
12% 18%
11% 13%
10% 14%
17% 20%
® 29%  45%
St.6 St.22 St.34 St.42 St.56 St.64 St.76 St.84 8 8% 11%
1 5% 12%
6% 10%
1 12
Y 0.922X-0.2801 Y 0.8879X-0.0581 - Y
0.6312X-0.25%4 Y 0.8879X-0.2039 - Y 0.0002¢1® Y 0.000331"
30 r 20 6
y = 0.935x - 0.4979 ) y = 0.6437x - 0.3938 - y = 0.0002x>183¢ L
20
A 10
0 ]
0 30
30 1
20
A 10
0 ]
0 30
G
8 —
13
9 6 3 6 [
7
4 -
9
10 2 -
2
ST T T T
12 H9 H10 H11 H12 H13 H14 H15 H16 H17
13

14
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